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'Sa!an? paid to plant supervisor

Isalaries of security and cleaning staff

2 aterial used to make tennis balls
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the following informatlon:

|
; e _ Job A
oo Raw materials 1/1/2015 $ 5,000
e { \SOo0  Raw materials 12/31/20:.5 3,000
Raw materials purchases \ %ﬁ)
Pl l=a s :
5 Direct Materials Used 150,000
Direct Labor 80,000
ek Manufacturing Overhead_ﬂpp'!ied 56,000
Work in Process, 1/1/201.5 30,000
W10 Work in process, 12/31/2015 lb?’CF’:l’B)
. Zo,050 Cost of Goods Manufactured 209,000
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(a) Indicate the missing amount for each letter. (5 points)
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During July, Noj
» NOIaN Inc, star ;
ted working on two jobs. Job A and Job B. At year end, Job A was

C &5 completed and sold, while J P
l, :
and Manufacturing Overhe ;b B remains i ‘process. Nolan Inc. uses a job order cost system,
ad is allocated based on direct labor costs. The company p'rese;-;ted‘

Job B
$ 6,100
4,000
120,900
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A assuming that the job was com pleted and
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(b) Record all the journal entries related to JO
unt (Use simple entries) (12 point)
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Question 3: ﬁ(oéé'_s's"_cfiﬁtifié.’;’}
+ materals are-added. at

on a highly

factures clocks

Timekeepeninc, AT ials and conversio
uses two cost categories, drect materih o esting Department. Direc hroughout
through the Assembly Department §|1d the Iy osts are allocafﬁfl_f_‘f enly throughot
the beginning of the production process. Conve _ e

prodaction. L

Data for the Assembly Department forJune 2015 are: A

Work in process, beginning inventory
Direct materials (100% complete)

Conversion costs (50% complete) _ < .
* C@{"\ . %
Units started during June 900 units_, WP % ASHe S
Work in process, ending inventory: 100 units
Direct materials (100% complete)
Conversion costs (75% complate)
Costs for June 2015:

Work in process, beginning inventory: —_——7
Direct materials * & $90,000 B'Qj a0 'b::
Conversion costs $135,000 \ 3504

* Costs added during June b 7
Direct materials costs added during June $600,000 Yyor,as
WWcésts added during June $400,000
Required A
B 20
A. Calculate the number of equivalent units for direct materials \
B. Calculate the number of equivalent units for conversion costs "5':'.':_;_- W75
teC.¢é A

C. Calculate cost per equivalent unit for direct materials
r D, Calculate cost per equivalent unit for conversion costs
‘& 7}9 Calculate the t_'o_tal__fa_mount debited to the Work-in-Process —~ . -

/ F. Calculate the cost of goods completed during the month -
Y G. Calculate the cost of goods in Ending Work In process .
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Circle the correct answer
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Baby Boom Incorporated preparés processed

Ll

()

initiation (beginning) of the cycle. Conversion
production cycle. Before inspection,

defects. Inspection occurs when units are 100

" 3% of the good jars. Data forJanuarif, 2015 ar

‘WIP, beginning inventory 1/1/2015
Direct materials (100% complete)
Conversion costs (50% complete)

Started during January

Good units Completed 1/31/2015

WIP, ending inventory 1/31/2015
Direct materials (100% complete)
Conversion costs (20% complete)

Costs for January:

WIP, beginning Inventory:
Direct materials
Conversion costs
'Direct materials added
Conversion costs added 450,000

1. Normal spoilage totals
(A) 6,000 unit

B) 9,000t . ...
€)M Ojunits & | S
D) 15,000 unit

2. Abnormal spoilage totals
6,000 units
(B) 9,000 units
C) 0 units
D) 15,000 units

4: Multiplé Cholicd uestions (-~

<ome baby food jars,
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s are added at the
hroughout the

are spoiled due 10 nondetectiplng -
generally constitute

baby";'bod. Direct material

costs are incurred evenly t

o converted. Spoiled fillets
e as follows: '
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" process costing?
A) $42

$4.00
C) $1.5
D) $25

4. What costis
costing method?

o - $36,000
¢13,500

c) $0
D) $22,500

5. Rawling Manufacturing Corp-

Sales

-

":-_.\-::ﬂ"ﬁ

Variable costs
Fixed costs

3 _ oa
Operating income $22.000 F2, 02 > \6020

£ aclethe total cost per Eqﬁqivalént unit using the weighted-average meth
£ R e [ i SESINE od of

allocated to abwspoiiage using the weighted-average process-

provided the following information for last month:

§50,000 25,60
16,000 e — 12000
12,000 - - o=

: 22 _
If sales reduce to half of the amount in the next month, what is the Eg_lgg‘gd :
operating income? ' ,

A) $22,000
(B) $5.000
C) $15000
D) $11,000

A) When there
]  B) When begin
= When there

i

are no
ning an

T

6. When willthe weighted average and FIFO methods compute the Same dollar amount

* for the costs to be transferred to the next department?

units in ending inventory
d ending inventory were at the same stage of completion

are no units in beginning inventory

D) When the number of units in beginning inventory equals the number Sfanitain
ending inventory = _ in







